o 3EE

MR R W

MEBEFSEALA VT —HEERETLE AERE
F A I ®= B ¥15,961, 000
‘T ¥ i %  ¥14,510,000
Bl FRAh A% 14,873,540
(Fitk 13,521,400)
£ 7 ] = ¥ B | BEfr & woH &
HEEAR
EiETER
1. ALY FY—F Y 10, 119, 800
1l 10, 119, 800
DLl
1. iR 1-| & 798, 000
2. BEEE 1-| & 1, 601, 000
3. —AxXEEE - & 2,000, 000
# 4, 399, 000
FHIE
= 7t (T {H#E) 14, 510, 000] -8, 800
HEB AN 1, 451, 000
HATHER 15, 961, 000
BETHEERERED
%$ﬂ3$)§&(%$n3$4ﬁ 18)
BEEHEALTOWET,
HEEMBTO|TIX
: 2.9 MALLET,
AR EE
BEFFERALTHET,
HBEHREICE, BETY
414, 2000 | BEENRTWET,
THRE A




% w | = B B O HM HE M | & ﬁﬁ‘ﬁ
|BEAR
1, 24T U—F
1) EHRR : 1= & | 1, 125, 000
2) ERATRETIE LAY -] &K 8, 994, 800
at . 10, 119, 800

- O : TEERFH AR




